
Devoir 3 

R-K 

1. 

[
𝑞̇
𝑞̈
] = [

0 1
−𝑤0

2 0
] [
𝑞
𝑞̇] 

2. 

clear all; 

w0=2*pi; 

q0=1; 

dq0=0; 

T0=3; 

n=300; 

dt=T0/n; 

%exact result 

plot(1:n,cos(2*pi*(1:n)*dt),'r-') 

hold on; 

%euler explicite  

A=[1 dt;-w0^2*dt 1]; 

[X1,A1]=eig(A); 

U(:,1)=[q0;dq0]; 

for i=1:n-1 

    U(:,i+1)=A*U(:,i); 

    E(i)=1/2*((U(2,i))^2+w0^2*(U(1,i))^2); 

end 

plot(1:n,U(1,:),'b-') 

hold on; 

  

%euler implicite 

B=inv([1 -dt;w0^2*dt 1]); 

[X2,B1]=eig(B); 

U2(:,1)=[q0;dq0]; 

for i=1:n-1 

    U2(:,i+1)=B*U2(:,i); 

    E2(i)=1/2*((U2(2,i))^2+w0^2*(U2(1,i))^2); 

end 

plot(1:n,U2(1,:),'g-') 

hold on;  

%R-K 

%ordre 1 

C=[0 1;-w0^2 0]; 

U3(:,1)=[q0;dq0]; 

for i=1:n-1 

    U3(:,i+1)=U3(:,i)+C*U3(:,i)*dt; 

end 



plot(1:n,U3(1,:),'y-') 

hold on;  

%ordre 4 

U4(:,1)=[q0;dq0]; 

for i=1:n-1 

    k1=C*U4(:,i); 

    k2=C*(U4(:,i)+1/2*k1*dt); 

    k3=C*(U4(:,i)+1/2*k2*dt); 

    k4=C*(U4(:,i)+k3*dt); 

U4(:,i+1)=U4(:,i)+(k1+2*k2+2*k3+k4)/6*dt; 

E4(i)=1/2*((U4(2,i))^2+w0^2*(U4(1,i))^2); 

end 

plot(1:n,U4(1,:),'k-') 

3. 

On peut voir que RUNGE KUTTA de ordre 4 est le plus précis. 

4.Pour E de RK4 

 

 
On peut voir que il reste constant. 


